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Question 10 continued.

(© @) =How:

it decreases

(i)  assieN: I” equation:

oxidation number of Brin Br, = 0

oxidation number of Brin Br~ = -1
2 equation:  oxidation number of Clin Cl, =

0

oxidation number of Clin CI” = —1

[The oxidation numbers may be written under the appropriate formulas]

CL + SO + HO — 20I° + SO& + 26
[Do not insist on correct formulas (they are given). (6) or (0) for balancing numbers.
Accept only the smallest correct integral balancing numbers (2 & 2) — not multiples.]

increasing atomic radius (size) / increase in number of shells / atoms get bigger /
increase in shielding (screening) / decrease in electronegati
electrons)
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Cool, Tewelgh and Tind Increase (mass of disSoIved Solids) B

find mass (g) I'" and multiply by 1000 / express mass in mg I ANY THREE: (3 x 3)
[Accept “weight” for “mass”,

(i)  TEST: add silver(I) nitrate (silver nitrate, AgNO;) solution and nitric acid //
white precipitate (ppt) / precipitate (ppt) soluble in ammonia (NH;) solution (4 +3)
[Note: the two points are not treated as linked for the purposes of marking.]
(b) pEFNE: (1)  loss (decrease) of electrons
(ii)  increase (rise, gain) in oxidation number (4+3)
[If not designated (i) and (ii), the order in the question should be followed. One undesignated
is assumed to be the first.]

(i) 1* I (iodide ion) /I (-1) /T / arrow labelled “oxidised (oxidation)” from I (3)
_1
2 1, (iodine molecule) / I (0) / I,/ 1 3)
0 0

[If not designated 1° and 2", the order in the question should be followed. One undesignated
is assumed to be the first.]

@
iv) 1* ClO” + 2T + 2H — CI' + L, + H,O [Cancelling applies] 2x3)
2 L + 2507 — 2T + S04 [Cancelling applies] (2% 3)
(© @) DEFINE: discrete (fixed, restricted, definite, specific) energy of electron /

energy of electron in orbit / -
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